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13 (0:00.010 | 0,946304 0,007324 0,300298 0,09424 -0,02002 1,172447 -0,29311 1,367855 [
14(0:00.011 | 0,947768 0,008301 0,298833 0,103517 -0,02002 1,172447 -0,29311 1,465559 [
15(0:00.012 | 0,948745 0,008301 0,298344 0,105959 -0,02051 1,270151 -0,39082 1,367855 [
16 (0:00.013 | 0,947768 0,006836 0,298833 0,084474 -0,021 1,367855 -0,29311 1,367855 [
17(0:00.014 | 0,946304 0,005859 0,297368 0,050782 -0,02051 1,270151 -0,29311 1,465559 [
18(0:00.015 | 0,945815 0,007813 0,29688 0,026856 -0,01953 1,270151 -0,29311 1,367855 [
19(0:00.016 0,94728 0,009277 0,298344 0,016602 -0,0166 1,270151 -0,29311 1,465559 [
200:00.017 | 0,948257 0,010254 0,297856 0,013184 -0,01318 1,270151 -0,29311 1,465559 [
210:00.018 | 0,948745 0,010742 0,298833 0,011231 -0,01074 1,270151 -0,29311 1,465559 [
220:00.019 | 0,948745 0,010742 0,300298 0,009277 -0,00928 1,270151 -0,39082 1,367855 [
230:00.020 0,94728 0,008789 0,301762 0,008301 -0,0083 1,270151 -0,29311 1,367855 0 -

[ ® i 3

Piipraven pocet: 24202 | M - 1 + 100%





